BERE<yS
HEL E+#Fih(1/2)

T 2554 9A24HREF

\; —i ]

1 it
Y . B E B B E 8

B B 7E & A =

2.5.28 3.5.11
100cm 0.063 0.054
@ T 50cm 0.076 0.062
5cm 0.079 0.074

Bf - gv/o0o—X )Lk

NEEBELUTHIHEWN =D RKKADAZAITE
3B 7E B A9} 1£0.10 1 Sv/h (H=50cm) LA T & FESR



BEtHEE~YS

HELDE#&ih(2/2)

\\:\‘.I@
~ o =8
4 !
|
~]
1
255924 HREF
_ . BIEE BIEE
H5 B E BT =S
2.5.28 3.5.11
100cm 0.073 0.077
9 T 50cm 0.075 0.084
5cm 0.080 0.087

B . B4 700—A~)Lk

NEEELITAGWNEEHRKRADAZHTE
3B 7E B LA9} 1£0.10 1 Sv/h (H=50cm) LA T & FESR



